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1	Summary of offline discussion 
CB#01 Duplication_Indication

-Provide our understanding on the needed information from CN via this indication
-Check SA2 requirement and progress
- Failure cases and the impact 
- LS to SA2, if needed, take 2240, 2243 into account

(E///)

During the offline discussion, we have discussed the three main issues that we would like to consult SA2:
Q1:
We understand that the value of the RSN parameter is an index that indicates redundant user plane requirements for the PDU Sessions.
Does it mean this index points to a particular UPF and a particular NG-RAN User Plane (UP) pair? Or it is only at the UPF side, i.e. NG-RAN is free to choose the user plane? 
For example, does it mean that UPF1/NG-RAN UP 1 are always selected when NG-RAN node receives RSN equals 1 and UPF2/NG-RAN UP 2 are always selected when NG-RAN node receives RSN equals 2 (i.e. UPF1/NG-RAN UP1 used by PDU session with RSN=1 for all pairs subject of redundancy) 

Q2:
TS 23.501 says that “NG RAN notifies CN about failure to establish dual connectivity and SMF based on local policy decides whether to continue with the PDU session or initiate release of the PDU session.” 
If NG-RAN receives PDU session setup for the second PDU session and the indicated RSN is not possible to be setup, RAN3 discussed two possibilities in NG-RAN:
Alternative 1: NG-RAN node configures the second PDU session to the same RSN as the first PDU session (e.g. MN) 
Alternative 2: NG-RAN shall fail the second PDU session setup. 
Is alternative 1 allowed? If it is allowed, should SMF be notified and further decide whether to continue with the second PDU session or initiate release of the second PDU session?

Q3:
If the two SMFs are involved, how do the two SMFs coordinate the following? 
(PDU Session 1 and 2 are redundant)
1. RSN settings when the PDU Session1 is setup by SMF 1, and when PDU session 2 is setup by SMF 2;
2. When NG-RAN notifies SMF2 the failure of PDU Session 2, how does SMF1 know which one is PDU session 1 and makes the decision to release or continue the PDU session 1
2	Way Forward

Send a LS to SA2 for the questions in chapter 1.
[bookmark: _GoBack]RAN3 would discuss further the Stage2/Stage 3 details related to solution 1 for Key Issue#1 at the next meeting.
